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2. The following sre the steps 5 construct an equitaterst triangla.
Detenmine the arrer in the steps. Write your answes on the nes previded,

T clep &, bine goement BL oS drawn
before the netesSary aves are
dvawn . ind  shelld be wade by
dhe taterseidion 0F Zarts fipn Aand|B.

Brove 2ABC is similzr ta 5.BDC.
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4. Which equation is true?

A, sindQF = tanho®
B. cosd(® = cosB0®
G, sindd® = sinbo®

cosd0” = sint0?

[
5. Which point is\gifa circle with a center of (0. 0) and a radius of 107
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6, Study the tiangle.

Explain how you can determine the value of sin x. Use the word theta in your

explanation instaad of the symbicl. Wirite your answer on the knes provided,

X #h=C* =Y

sz e =g: 8503
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T. Explain why the fornla for the area of & sector is 4 = Ty where 1 is the radius of
the circle and # is the measure in degrees of the central angle of the sector. Use
the word pi Iy your explanation instead of the symbol 7. Write your answer on the

fines provided.

Aot Aven of the whole Civele

Ohfo= Gives the frachion of the
whole civele Phet yow ave Had, 9.

B. Puints A, 8. &, 0. and £ ar= located on the circle ¢, as shown in this figire,
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9, A pyramid and a rectangular prlam have congruent bases and equai haights, Writs
a statement comparing the volunse of the figures, and explain your reasering. Write
your answer oh the lines provided.

Ayt pid = % Bh
Prism = Bh

So,ﬂ'fmm&d 2 h of Phe Prtm

14, Which transformation on gquadrilaterat ABCD produces an lmage that does not
preserve distance between points in quadrilateral ABCD? pemu——

A, reflection scross y = x
B, transiation 3 units down angd 4 units to the sight
¢ ) dilation by a scale factor of 2

. rotation of 270 degrees
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40. What is the sequence of transformations that carry triangte ABE to triangle QRS?
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A, Trangle ABC is reflected across the line ¥ = 3, Then it is franslated 2 units down,
@ Tiangle ABC is reflected across the line x = 3. Then it is wanslated & units down.
. Tdangle ABC is transiated 2 units to the left. Then it is rotated 20 degrees
counierclockwise abowt the point (4, 1)
D, Tdangle ABC is transtated 2 units to the right. Then it is rotated 30 degrees
countercliociwise abowt the pomnt (1. 13

12, Look at yuatriateral QRST.

What is the #nage of point B afler a counterclockwise ratation of 270 degrees

tin? -
about the ongin? (+ ) qo (: W
@ 8, -5 y)‘x
. =3.8)
L. 43
D. (3 -

13. Look at the square WXYZ on this coordinate plans,
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14. What is the coordinate of point P that Hles along the directer line segent from
M2, 5) to R{T. 12) and partitiuns the segment in the ratio of 3 (0 57
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15, what Is the equation of a line that is perpendicuiar te y = %x - & and passes

through the point {6, 4)?
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A, y=—%x+1 L{- Uﬁ)kh
What is the perimeter of the square WXYZ? o 1 ; \-! I “”443
L YE-oXH
A, 20 units 2 iél?
e 25,5 units C. y=-2x-8
s 32 units
D. 40.9 units ®y=—2x+lﬁ

16, Study this equatien of a circle.
~GX+ P +E=0
Which of these represents the center and radius of the circle?
1
X 'Lx*i’*ytﬂy {‘l
1 g

A. center: {3, -1}, radius: &
B. conter: (-3, L}, radius: &
C.) centen (3. -1}, radivs: 2

. penger: -3 13, raidius: 2

7. What proves that figure ABCD is a parallelogram?

faw]

A. Diagonal BD bisects angle ABC.
Sicle AB is equal {0 diagonal AC.
@ Diagonal BD hisects diagonat AC.
. Diagonal BO is greater than diagonal AC.

a= 4]

18. Gne bag of wn {ertifizer can cover approximately B.O00 sqiare feal. Mike's tawn 15
. . " . ) 3

absyt GO0 sguare feet, When Mike spplies fertilizer 1o his lawn, he applies It w — of
his lawn ondy. &

PartA: Abotit how many compiele Bmes can Mike fertitize his fawn with one bag of

forttiizar? SUOx 5/,+: 375 ﬁgmu/gjg /}3?

Part B: Mike fortilizes his iawn an sverage of 4 times per year. About how many full
years will he be abie to fertilize his bawn with one bag of fertilizer?

£ 13M=3.25
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A stident draws a card from 2 standard dack and then draws another card without
replacing the flest cart, Explain why the prebability of picking an ace on the firss
draw and the probability of pickdng a 7 on the second draw are NOT indspandent
aveits. Write your answer en the lines pavided.

Becomse dhe firct Lacd 15 rot rwlmed Hhe
prolsvaé» M\. ot mnkms’- Ba 7 s affected
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